AfFew quw Se-2
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. ‘T 9 @ T S W o b (\) B ot 3 o o SRRt
(A) 3t B TR A Py T s (B) e 9 w1 w1 e Wt
(B) 3T |2 | T @ ) (L) e & wm oW =9 TR
(C) I T TH TH Fw W (D) e e fRar @ w0 AT WDEE
(D) q@ ® ¥ T foran sufw) 11, few Rwee § ot e weme Tt o §

2. WA FT IV IW T N uga © gern g g’ (\) T, wme, sff (B TR OWEL W
(A) If=Efa st (B) Ta-F1 T 12. Bt T oI H BT T T TR O =T
(C) Ie2-999 g+l (D) aved gy I W HET W A7

3. Fﬁﬁﬁ?ﬂmﬁmmmt? (A) T TR (B) FHAITE TEAR
(A) feeeft o wm firwed 81 (C) frrumerss sfme (D) ¥R R
(B) 3 M & wEamw ¥ 13, B F @ e v o
(C) fewerg odat %1 w= R (A) 9% (B} ==
(D) @/ & TR IqF W7 fshe o | (C) w== (O =

4. af e wrm oft 7 dee @ Sod R oo 14, T @ T e T s 17
FiTY A I T A SR w5 i wgie @ 20 (A) RE= (B) ¥
(A) T S[@FA (B) wfery Idam (C) SiEs (D) &

(C) ¥msmed IdaM (D) Tr=g wivsaq 15. F # ¥ ‘waed’ = o T T B

5. ‘geiw &1 faem wee i— (A) fime (B) s
(A) g (B) &t (C) mer=gtt (D) "y
(C) g™ (D) &= 16. Fafefen el ¥ @ @ 9 weeile—

6. T=ferfaa wregt w e firfsre— (A) rEmTHt (B) ffis
(1) Fam (2) #med (C) =T (D) IFTs
(3) Tt (4) e - 17. F= ¥ @ o govas wEAw @ auiw e
fra fawea 4 ot weg g 7 (A) 3% I T W et R4
{A) 1,2 3R 3 (B) 1 =R 4 (B) =faat Y fre symwfiw e it
(C) 3 37 4 (D) 7E T+t : (C) Srft Tt St st |

7. =AA 61 2 ¥ FA-T1 eg g 27 (D) YR STeT F A R
(A)==ER (B)xdA  (C)w8™ (D) Fcned 18. "Circular" &1 B s = —

8. == =7 Giu-fa=ee @ 9fd &1 et @ 37 (A) Imem By Tiw (O) g (D) sfge
(A) BT + oTe (B) Il + T 19. freifera e o & qeeTier fvan w1 wam @
(C) 7=+ + 331 (D) ST+ ™ (A) 3ifrm Tee TR A3 | (B) Wew u Rraa w R

9. = &1 IS & aET 87 (C) 7 i W @ R (D) Tl zem e w@h @)
(A) TETE HifeT (B) 9% ; 20. Feferfem & @ fhw aea § Rva gl sa ¥ &
(C) TEER-T (D) T (T2) (A) 98 &R TR | (B) 399 T @ |

10. == T=am = fou e ves wds A 27 (C) waeft el 2 | (D) A g& 7
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21. Choose the correct option to fill the blank in the 29. Complete the following sentence by choosing ";
¢

sentence given below: correct answer from the given options :

The wounded man ... by some boys. That is . . . toy which 1 saw yesterday.

(A) were being helped  (B) are being helped (A) an (B) those (C) little (D) the

(C) was being helped (D) will being helped 30. Fill in the blank with appropriate word froy, thy
22. Fill in the blank: options given below—

We ... (wait) for her when she ............ (return) She has given her . . . to the proposal.

home | (A) ascent (B) assent

(A) sh‘al! be waiting, returns (C) wosit (D) adjacent |

:?_\: ::J;"bi;:f 1;::5;“\\111 retum 31. Pick out the correct senrenc? from_ thos.'e tgiven beloy,

(D) None of these (A) The class had divided in their opinions.

23. Choose the correct Hindi words : (B) The class have divided in their opinions.
Increment— (C) The class were divided in their opinions.
A)Ffe (B) = H (C) = gfg (D) s (D) The class being divided in their opinions.

24. Choose the correct Hindi option: 32. Change from assertive to interrogative:

Inflation Itis extremely foolish to waste time in reading trag),
(A) ¥ (B) w=hifd  (C) TEdifa (D) I (A) Why waste time in reading trash books
25. Choose the most appropriate translation of the given (B) Why should one waste time in reading trash?

sentence into English— (C) Whey waste time in reading trash?

TE 31 wret & fR we ad wwan) (D) Why should we waste time and read trash?
(A) He is so fat that he cannot walk. 33. Choose the correct indirect speech of the following
(B) He is too fat that he cannot walk. sentence from the options given below:

(C) He is so fat to walk.
(D) He is so fat that cannot walk.

26. Which is the most apt translation of:
I wonder if it’s true.

He said, “Hurrah, 1 have won the quiz.”
(A) He said joyfully he has won the quiz.
(B) He exclaimed with joy that he had won the quiz

) _ (C) He exclaimed joyfully that he won the quiz.
(A) g3 391 T=a18 W dee R (D) He exclaimed with joy that | had won the quiz.
(B) &% ¥ w1 ¥ = A #) 34. Choose the correct passive form of the given sentence:
(C) 72 7w 71 ® Close the door!
(D) Eg ITF 9 BN W A 98 2 (A) Let the door be closed.
27. What punctuation mark is used to separate items (B) You should close the door.
in a list? (C) Let the door be close,
(A) Hyphen (B) Comma (D) Let us close the door.
(C) Period (D) Exclamation mark 35. Choose the correct option from the four choices given;
28. Few things are impossible ... diligence and skill. He walks as if he ........... (be) mad.
The preposition that fits into the blank will be: (A) was (B) is .
(A)At  (B)With (C)To (D) By (C) were (D) being

(o, $fe, en-segft (Tvam), A R, w6 T T TR S, TR R, -, w(eq'j
36. fr=aforfam & & st 7 302 ‘g’ & srwn d @t g

(A) 91 T9A (B) 971 WA
Heh T ST T AR HTEAT 27 (C) T (D) fewrft farm
(A)9=e (B)¥9® (C)d® (D) W& 38. ‘& wda WA € Fuwrd = —

37. faferRea & @ e & S TeRam | g7 s (A) 1722 iz (B) 1597 tfizx
A wafia T8 27

(C) 1380 #iew (D) 1496 =
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y. ‘wmafER wwe fem W v wst mim Tom @

41.

42.

45,

47.

49""

ama #7
(A) W= 3 (B) ¥ 7q
(C) 7t 7 (D) =t Feqart &

e # 31w 2023 7w wém gt @ g
g 27

(A) 869139 framfim  (B) 9993 18 Frenfier

(C) 10789.72 framfizt. (D) 11144.62 frenfiz
TG AT W ST (N 1DM) Y T &1 Sraus
form um & st 27

(A) 9T 14 (B) um 42

(C) umm 44 (D) umm 17

2011 Y FTUET F AR, THEAH F 1Y Bt d
100 ¥ 7 FTEEET 99 27

(A) ST, IF, fFER (B) Jmenn, dfFer, awn
(C) ATEH, AT, TIWATE (D) R, wrei, T

, TR fore T =1 T am =g

(A) TS ST foTwe e
(B) ¥R &7 fowe 7w

(C) T faw Je

(D) SEmEY =gE o T8

. Trea = @ e w1 s seares s 7
(A) FeTRATEE (B) SrimTse
(C) faf= v (D) 132

ToRd™ % Uy H ARIRE T6 .... A J 2
(A) |11 (B) 3=

(C) o=k (D) T

. TR &1 IeATeH | WoH 9= 3—

(A) T (B) U™

(C) TwE (D) =&Ee

newrst off 3T fiew for. foea ad wenfum & o 7
(A) 1939 (B) 1971

(C) 1991 (D) 2001
. e -faamn faar e e @ s = a9 T@—
(A) SR (B) g

(C) 3Tt (D)

gz A & W @ ufag TR —

(A) I (B) F

(C) vTen (D) 358

T H FTel Y @ i AT v g it

aui fra @ | gt 27
(A) gd1 Teream™
(C) Zat TerEy™

(B) ufgedl Teea™
(D) feroft T

51

52

54.

55.

56.

57.

58.

59.

60.

61.

62.

o 7 e Heam w fem 3

(A) 7aq  (B) PR (C) I (D) AT
e § snraef siforat Y B 32—

(A) F-7d & -

(B) Zfem-afEm & ga-gdf

(C) Fm-ufrem A Zfeor-afrem

(D) zfem-frem A Im-afrm

e H @ we T e Avanva # agdt 37

(A)dE (B)dm (C)F (D) SmEm

et Taes frdt qeaa: e e faam £ Rt
3

(A) =t ot wart wmr (B) A2 &7

(C) smaeh werd e (D) Ef A

AT ¥ =feoht wrr ¥ 250 & 450 . A IO W
watfrs dear § a W™ A ga §7

(A) mEH (B) Ee

(C) s (D) getm

TR ST & R § fefafaa § @ Sear s
Tera &7 '

(A)  TTETE A ufteg % Al wee A1

(B) ¥ ‘%0 TSR’ & HUEH o |

(C) 321} o I ToRAT ¥ qeandl % w9 F FW R
(D) 1951 § ¥ 3791 veen g §9™ R M ¥

& oA (25 T, 1948) 1 3gETer fhaa fma?
(A) Tt mefia (B) SaTR @A TE®
(C) UER 9 (D) TRM FAEA

e Remen & gad wge S v faem
f?

(A) dfsd geht AR TWi(B) M= AR @l

(C) ¥vrmel Teeld (D) i TaEwRE St

TR H g SRR ®E AT ATAT 87

(A) 7w Qo B (B) HET FU A

(C) 3= Four 7wt (D) W59 Y& 75

o o @ frm et ot Ryt wiemeet W AT 27
(A) =Ny 7T (B) & wman

(C) == Hmar (D) HE™TT "l

‘T werd T A @ wig Wi et % e
@ A7

(A) Toeie fza (B) S&m Tl

(C) T g7 (D) YITETER

WA & HaW T 3 o Jedi § wnae R Freaferfaa
v senfa g wrew femam T an?

(A) dfom (B) mefmn (C) i (D) mufdmn



63.

04,

6S.

67.

69.

70.

7L

7L

73,

74.

A

76.

m%mmm(mm)aﬁm
ATE W ... A W AT X TEET o

(A) TR (B) FmAea () amva (D) fmens
WA e feas g wew R mn—

(A) ToeH |1 T0 (3) wrfierea arzn

(C) \ioTs =@ (D) T mfg= frd

=R e | f THh & w1 W fem
AT ByFmm (O FeE (D) = a
mmﬁmmmmﬁmﬁmm
T % Rar mam ar -

-----

(A) TER F1 IS (B) srmofsm =1 fremea
(C) "R F1 A@ (D) FoEaE F1 9a

T qo-tue w fafim fem aw ge #?

(A) B (B) Frefam

(C) ST (D) FoTE

AR @ e ¥ fafew = tfvem st & ww
it &Y oft—

(A) Riear—amn, 1803 & (B) srra-amagan, 1804 §
(C) S=i-wa’l, 1804 ® (D) w=-1s, 1806 #
Frafefas ¥ @ s 1921-1922 ¥ ¥ & o= *
srfeame R TRIeH & Werayut safea § 8 un §?
(A) FiteTS deTEd (B) TEa *ad fow

(C) Ta Wrufde (D) T T

ore 3 frw wee & saaER @ vE 9 Tt ™
SArwor fFa?

(A) TTeTes (B) ==&+

(C) T 3cafdR (D) TE S

IS ATVNUT AEAHTAH TRETE § IRR & frg s
¥ gafiw 27

A)FR B)T® (OX (D) Seft
TS wTEEY e A m e O —

(A) HRTUER (B) F=1
(C) wreafeaan (D) w8
T aiguie wf foew e § 87
(A) 3= (B) SR
(C) 3Te/a (D) m

‘St v’ @ ‘awa e st o 27

(A) TedieTe (B) TR

(C) S (D) aTgit

TE™ # o8 gRT o watet &7 wad foRa Tar?
(A) SEER! B (B) Y0 &I

(C) F=m-i T (D) T Ferht ==
qfggm war I aRdE d@fagm =i g
srfafrafaa feear |

e e W

R i

7,

78.

79.

80.

81.

82.

83.

84.

8s.

(A) 26 T, 19493& (B) 26 T=T, 1949 5y
(C) 26 St 1950 H (D) 26 Faww, wsnﬁ
e 8§ few ad fren g e |
forerr Forem it @t foem ran? w
(A) 2010 (B) 2003 (C) 1987 (D) 2005 s
ﬁmﬁmﬁﬂmnﬁmﬂ:mmﬁ%
urayT fan mar @7 |
(A) T H Frimfera afes # e
(B) T3 1 T HerfEst gl |
(C) T Y st S A ) i
(D) T gr fa e |
& % arfirrn @ aoi wEl fEar mar 87
(A) SEam o
(B) Mferw arfemm #
(C) Trfifa % Frder forgrat #
(D) et dleat o
T a1 ATE F geet d Fgfe T 3 v
wfufy &t R w6 ATt 8, o deem o
BT 8— |
(A) gEmh |
(B) fauma # wfomer =1 Jan |
(C) geawsht g wAria e wht
(D) I=9 AT T AT |
ATeBT 21 & Fria fwa afoer =t wfter fan
T R?
(A) THaT T ARFR (B) Taadt 1 AR
(C) wuf =1 3rferFR (D) foret 1 a7ftR |
%mem)%mmﬁammm
q Frar 77
(A) weae fratem |
(B) mqmg%ﬁﬁ:awﬁr%mwmqa
ot
(C) T=IaTe g0 Tl &1 FAREA
(D) 37Ed § § =18 7 | |
WER Y AT, mma@@rmﬁfﬁﬁﬁﬁqm
HYAT 77
(A) fremeftar (B) 9T s ‘
(C) fren gfer sreflers (D) 39 K T \
W*“Wﬁﬁ%@ﬁ%ﬁﬂmuﬁmﬁ

fra argede o wawh v ¥
(A) 313, 151 (B) 313. 159
(C) 31g. 157 (D) 373. 161

TRA™ HT o a6 )l s Rumaar § fe
T o Y T ot W ww gd ¥7



86.

87.

$8.

89.

91.

92.

93.

9.

9s.

96.

(A) 591 faumm (1972-77)

- (B) 61 faumm (1977-80)

(C) 1281 fRumm (2003-08)

(D) 1451 faman (2013-18)

.ot afFa e aftwen & R R s 22
(A) el (B) diferan

(C) T8 (D) wefen

AT § qU IuTed W I8E R e g W
form T & s s 27

(A) FTTH (B) StfFes

(C) TeEAH (D) AT

T WHE FTw S | ., TR B €
(A) 23 (B) 46 (C) 50 (D) 28

o @ & vaw v = SR - gt e @ = Rk
TaT 87

(A) & B)Htem  (O)dem (D) T
FARH &1 faiam o Fefefae § @ & ot
o graT 82—

(A) = 919 (B)

(C) T =1 wm (D) Y& Hiwfem

gersft TW 9ETE Uie &7 & & | [Hu= 2 T, 98 e
T i T & g 47

(A) TR - BT

(C) W= (D) 4 ¥ =i T8

Tt frEn W TR W A @ § v 6 de

feaea 3 woTte R, e wray fea et & 3—

(A) TR (B) d®  (C) Feft (D) ®RT
T 2024-25 % U Usa & GSVA # a7 & &1 e
fereT wittyra egafaa 22

(A) 26.92% (B) 27.16%

(C) 45.92% (D) 50.00%

Tt @ 1 s g fee awedta @ T gt it
ATE 7 o IETS 2025 wem fear ma?

(A) FEHT T (B) fear FAi

(C) Tt diarmor (D) 55 i

wRera geu Rad dm 3 diersh fava w9 2025 & Te
TRUT ¥ HIH-|T ISk HArar?

(A) =i (B) T

(C) == (D) 37 & =§ T

ron fFam o™ faftr % wea TRy TR R A
T et arfafes TR firetmas et e et et
7 g 27

(A) 36,000 (B) 28,000
(C) 39,000 (D) T12,000

97. TR A fFa 2 wen @ Fafa smgfd & s
W TR T ¥ forn v Refree wewd 3 WIN wf=
o #7
(A) meXfe Y zamgat 3 E F I
(B) WY #F (ARV) 3R TA-T1F 30 (ASV)
(C) COVID-19 #% 3in diferdt F 2
(D) 37 & F S AL

08. Yt @ ‘aemae W AEfafaw d @ few
W Tea | fore 27
(A) nfem (B) *mH
(C) Tafem (D) afeem ama

99.==§mnwef=m§m(msp)mmﬁaﬁrﬁtamﬁ
fraft 77
(A) Fft @ 3R qea smam (CACP)

(B) st wfaeast s
(C) 9 e srmm
(D) wra F fafar smam

100. ygfy & Tgyfi e & sfmta frm faet wrfve
=RoT ¥ wnfAe &7
AR B)T]W (O)Fd (D) 3113

101. MS-Word ¥ fmt # & &1 #t shortcut-key Tt oft
text @1 double Underline #@ & @ wam # =i
AT 87 :
(A) Ctrl + Shift + U (B) Ctrl + U
(C) Ctrl + Shift + D (D) IW&d & & #15 7l

102. 1T 6 TR T Het B 87
(A) €M (B) T
(C) T\ 91 (D) fme

103. 3. wa i, ¥ T AV B—

(A) Internet System Protocol
(B) Internet Service Provider
(C) Internal System Program
(D) 38 ¥ =§

104. FraferRae # @ fra Soft /3o (TetuEs) J mitkee
TR TG 1 anfasnr fwar?

(A) & (Google) (B) wgET™® (Microsoft)
(C) was (Apple) (D) SR (Xerox)

105. MS-Power Point & Paste Special 7T Iugm & &4
F R FF-df Te-we At wawm A ot w22
(A)Alt +E + S (B) Alt + P + S
(C)At+F+ U (D) SEq o & 1§ T



= nfoE

106.3F AT SN A Agimsa s T BAwR
& arfire e 21 R 3 A S Y @ & @
TE 39 B A 2 W2 &w wwa St 1 37 B F wfy wmw k7
(A) 75 km/h (B) 50 km/h
(C) 80 km/h (D) 60 km/h

107. A 373 @t wwa ® v Pifvas wd = gwa @ e wrg
A B 3 C fee & w81 9fR A ot B = o™
T § A 8 = owea ¥ ot C A 40 fRAt A W=
THAT 8, A B I 78 v R o o wewan 77
(A) 15 f&= (B) 30 f&

(C) 20 f= (D) 25 &= ;
108. 34800 HY A, BAAT CHF A 6 : 5 : 4 F g o @l
WA 1A 3R C & Ry o fvaw = o 37

(A) 2600 (B) 2640
(C) 3500 (D) 2320

109. 14, 17, 34, 42 79w § | BY& @ & &= o &
g WIe {6 38 WER Ww deamd wnrurd @
(A) 2 (B) 3 (C) 4 (D) 5

110. 2250 <t Tl uget a6 F 4% IR T € & 8% N
TRgly =9 W et & sef?
(A) 2280 (B) 3280.80
(C) 2468 (D) 2290.90

111. T1,650 W 4% TT¥E = F FUR =ATH, GO [ A
1,800 W WA <T@ T30 w9 2 | 3uR 233 7 0=
&1 graEfy —
(A) 3 a9 (B) 4 99§
(C) 5 =4 (D) 6 =4

112. 7919 &1 Tdten & Il 8 & fore 36% i wmer &
a1 30T 24% ik W FRY 3fit @g 9 Il @ argefivl
AT | W FT quIieh o1?
(A) 66 (B) 75 (C) 50 (D) 60

113. UF WaT9Tah § e i IeUTed oIRTE &1 30% WIE o
ges & fawa qea 1260 7@ = fEan) gwerits, @
T aue & fore fasa ew W 12% # gz e R
9 Ufayradr =T grft?
(A)13.7 (B)144 (C)134 (D) 12.87

114. T gHMER 1080 # vk i @liear 2| o8 fafga
el W 25% T o & a1g Wt 25% T 19 1o wtar
t s i 7
(A) 1350 (B) 1687.50

(C) 1800 (D) 1765

115. U aTgfhet wTeteh aget i foRetfiz ®t 8 kmy),
afram nifa A, ara 3t frendize &t 3 km/hﬁaﬁ'{mﬁm
 frenfiex & 2 km/h & 73 FT 21 GhH Ay
e aitea nfa (km/h) T 27
(A) 3 (B)24 (C)343 (D)38

116, Fr=r & & et W oft wEd T T E, A 105 5
frarfom w0t w fraver 9 A @ R 164 B Frorfyy
FA W HUEA 20 ¥ 37
(A)24  (B)36  (C)48 (D) 96
frdw (w9, 117-120) : TF YA 9T # g,
@it Bl, B2, B3, B4, BS, 3R B6 &R712000 37k 20,
4 gl &1 B (&7 1 GET F) A% F 3T 7 oy
I T

117. vr@t B1, B3 3R B5 i us @ fueme 1 ast 6
Tt faehl (29 Y wear #) T ety

(A)250 (B)310 (C)435 (D) 560

118. vrrEt B2 <t gt aut it v fahy =61, wran B4 &y
AT a9t Bt F Tkt & sguT Aem w17
(A)2:3 (B)3:5 (©C)4:5 (D)7:9

119. =4 2001 # B1, B2 wiT@n iR B3 &t sirea e, ad
~ 2000 # v B1, B3 3R B6 &t oftaw fasht =71 v
gfawra oft?

(A)875 (B)75 (C)77.5 (D)825
120. 7 2001 % wITET B2 Y ger # e B3 1 el R
fesht & gfg =1 wfawm 79 =8 )

© (A)692 (B)S08  (C)409 (D) 657




ITETAT o Ufdeq guR-2

1B | 2.B) | 34 | 4D | 54 | 64 | 74 | 8D | 9.D) | 10.C)
11.(4) | 12.(C) | 18.D) | 14.4) | 15(C) | 16.D) | 17.(A) | 18.(B) | 19.A) | 20.(B)
21.(C) | 22.4A) | 23.C) | 24.C) | 25.A) | 26.A) | 27.B) | 28.C) | 29.D) | 30.B)
31.C) | 32.C) | 33.B) | 34.4) | 35.C) | 36.D) | 37.D) | 38.B) | 39.B) | 40.C)
41.(4) | 42.B) | 43.A) | 44.4) | 45.D) | 46.C) | 47.(4) | 48.C) | 49.C) | 50.(A)
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81.(B) | 82.B) | 83.A) | 84.C) | 85.D) | 86.C) | 87.(B) | 88.B) | 89.D) | 90.(B)
91.(B) | 92.B) | 93.C) | 94.B) | 95.B) | 96.C) | 97.B) | 98.B) | 99.A) | 100.(B)
10L(C) | 102.(C) | 103.(B) | 104.(D) | 105.(A) | 106.C) | 107.(C) | 108.(B) | 109.(A) | 110.(B)
11L.(C) | 112.B) | 113.8) | 114.(C) | 115.(C) | 116.C) | 117.(D) | 118.D) | 119.4) | 120.(A)




